FRE30FEE EEXIF/NAL—KR—ILEFEXSE

(1HEBE BEF#E4#EHt] B 12/15 () 8:30 EEfITHE&HE 834 EE 9210 F1HS
=5 D —F @ —EE @ MrIT% A%
O —8F =5 Ad—k O —F =5 Ba—k
F—L% i 2 3 4 [&aER] F—L% 5 6 7 ST [IEL]
262 20-2
1| —= 0[?2:22} 2 1{1225_—283 2| 2 5| 8T z[ggjj 0 1&‘5‘:23 2 3
25-1
2| I 1[33:23 2 ZBEZ]:ZJ of 3] 2 6| REI o[}}:ﬁi} 2 0{:;:22} 2 2| 3
19-2 25-2
3| e 2[22:553 0 2[27—23 1 4 | 1 7| EE 2[21—2% 1 z[ggjg 0 411
25-1 25-1
28-2
4 F3 2[285—_2153 1 0[}3222} 2 3 3
@ —=Em =5 Ad—hk @ —=m =5 Ba—h
F—L%& 8 9 10 1 [Sar[IEf] F—L% | 12 13 14 ST [IEL]
s| — =& 2(25717) ol 1 [fo23) 2 3| 2 12| =% 1[oa3] 2| 2(%576) 0 3] 2
= 25-17 o [ . 25-19
6-2.
16-25 19-25 = pE > 25-9
9l #l 0[20—25} 2 0[14—25} 2] 4 13| —ERE 2@2:2%] 1 2[25“J ° 1
N 17-25 25-16 7 6-25 9-25
10| Rium 0[17—%}2 2[25_20J 0 313 14| TR 0[19_2532 o[m_sz 2 213
6-2.
11 N ZE?:ﬁ] 1 z[ggji} 0 4 1
B IMrTE =15 Ad—h Q| MrTE =5 Ba—hk
F—L.2% 15 16 7 18 | &at|EM] F—L%& 19 20 21 S JEL
19-2 _ . - _
15| WIS 2[52313 1 z[gg_gg of 4 19] ;2B®H 0[;:)-33 2 o[:g_ga 2 2
24-2
16| FERE (s felsse 2| 4| |o| —mzx[fza fzd i
5-1 26-2
17| & 1&33 2 z{gg:@ 0 3| 2 21| /&E 2[22::3 0 1[;;‘:%] 2 312
18| TR 0[21:53 2 2[2255_"14; 0 3] 3
@ EHE =5 Ad—hk @ =HE =5 Ba—k
F—L%& |2 23 24 25__ [ &at|IEf] F—L% |26 27 28 BB
— 5_2 - —
22| EHkEE 0 ng%g} 2 1@;:53 o 2| 4 26] —=4dt 0[]%32553 2 0[}3;3 2 2] 3
4-2 _ - -
23] REit 262:@ 1 2[?2_?2} of 4] 1 271l — =% 2[2255_@ 0 o[;‘_ga 2 3] 2
6-2
u| EH 2{22:;30 1@3:25] 2 3| 2 28 EE 2[222}3}0 2[522;‘1‘} 0 4|1
2-2
20-25
25| #E 2@2:32]1 0[13—253 2 31 3
HEIE(4F—LY—2) HBIREF—LY—T)
F—L% i 2 3 4__ [ &atER F—L% 1 2 3 BB
1 E£3HE | F1HE 1 F1HE | £3HE
2 Zonts | gants 2 1R HoHa
3 EIHE | F2:Rb 3 EIHE | F2HE
4 Z1HE 4G
B4R 5E ik
DeHEDEHRIVEDNBNEESIER  BE---2P, & 1P, EHEE(LRIN---0P SAmmEz] ST
QtyrENBWEEBIERET S, TILE=2RE0B MR -2H 0KV F1HE 9:10 205
QBAEENEWVEETIEMIET S, BRE=2HAOLBAK-EHEOREAY H2HE 10:40 307
@RTEDFEICF TELEBEIEBRNEL-IGE . HETRD S, H3HE 12:20 405
L. QET T2 B#EHF—LARELGEMEES DA, 1Yy FOELREHEITS EVERS 13:50 30%




ERI0FEE EBIRII/NAL—R—ILEFIEXES
(1BEBE =FHx»E&HE) BE 12/15 (LX) 830 EEfITLEHLYE 834 B 910 H1HE

=i @O EBE @ B'EE ®@ ZESk @ —Bi
@ EER =5 Ad—hk @ EBR =15 Ba—k
F—L% i 2 3 4 [SEf|Em] F—L% 5 6 7 8 & at|IEh]
N 2[2255;_250] 0 0[185'_2255] J 3| 2 5| —mma z[ﬁé:}j 0 o[ﬁi:i?} 2 3| 3
23-2 16-2
2| miE 2[25:2] 0 2[25:6] of 4] 1 6| /& 2[25—13 1 1[25—23 of 3] 2
25-4 25-9 25-1 17-2
. _ . 25-2.
0| wR o)) |4 ]| (2 Ak
_ - . _ 25-1
4 K 2[2255_ 185}) 0[8_22] 9 3 3 8| EBHE 2[52_5;] 0 z[iéifg] ’ \ 4 1
@ ®wmE&E =& A+ Q@ wmE =5 Ba—h
F—L% 9 10 T 12| &at|JBG] F—L% 13 14 15 6 [ &atlE]
0-2.
ol I 2[53:;?} 0 ZEEZfE’] i 4] 1 13| /MR 2[%:?3 0 0[?;:2?] 2 3
10| #wE 1 24:$3 2|2 zgj i 3] 2 14| Bape 0| 1825 50|25 5l 2 | 4
oz ARENE 24-26 9-25
6-2
1| —=m 0[;?:2?]2 262:25]1 3] 3 15] — =& 0[32:%]2 2[%213] 0 3] 2
5 52 32 . 25-21 25-15
12l =& | 20-252)1(25-23 |2 2| 4 16] KRB |25 15|012 250 | © 411
@ #EEHX =B Ad—h Q| 5 =5 Ba—+h
F—L& | 17 18 19 20 [&et[IEf] F—L%& |21 22 23 24| & at|IEf]
17| fR= i[esza)2fo12) o 2 | 4 21] zBdt o 259) o 2 [209) 1] 4 | 1
18 Zg_f 15-25 ! 25-21 2§_$5
18-2 6-25 10-2 9-95
of w3 G 2| o 2] e ()] o | 8
25-1 5-1 . 25-1
19| &£ 2[23—2%] 1 2[717—23] 1 4| 2 23] A% 0[291 _2255J 2 1[23—2(5] 2 2| 4
25-1 25-2 22-2.
25-2
200 A 2[52:13 0 2[2255—_163]0 411 u| Eit 1[32:25’]2 2[2255_’122] 0 3] 2
@ —=ik =5 Ad—pk @ —=k =5 Ba—k
F—L% 25 26 77 28| &at|Ef] F—L%& 29 30 31 32__ & at]iER]
8-25 15-25 7 25-10 25-18
25| = °[3—25J 2 0[16_25] 2l 2] 3 29| HHEE 2[25_6] 0 2[25_10]0 411
2| R o(2) o[z 2 | 4 w| —= LI R
21| e [ 22])ol2 (2o af al o [o(e2)o22) 2 | 4
28|~ [o315)o]o (500 4| 2 | Huwim [ofj52E]eo[225) 2 2| 3
RBr—T AU NEERER & EE25-12— =L RBF—T AOFEERRER & Er2o-14—a=
HEIE(GF—L1—Y)
F—L7 T 2 3 4 [&ErIER]
1 #ams | B1HA
2 N} F4:E
3 Bt | ®mona
4 B | Banta
IBRLRTE A &
O2HAEDEHRAVIDBNIEBIER  BE---2P, BE - 1P, EMEEILRIL---0P AT marm
QEIbENBWNEEBIBRET S, TEINE=2HEO/EIMAE-2HE0EEYMAHE 1S 9:10 205
QBREENFVIELERTIEMLLT S, BAE=2REOKRBAK-2HEORERE HEoHE 10:40 3053
@RIEDFEICF>THEB IR N EL-I5E . IETRD S, ERRT] 12:20 405
2L, QFTT2R B #EEF—LARELBVGEEDH., 1Yy FDOHEHREHEITS HaHE 13:50 305




ERI0EE RBRIZE/NL—KR—IL:EZFERS

(2BB BEF#HAEHE) BB 12/16 (H) 800 FEfITEE&HE 804 FiE 840 Fi1RHS
=15 IMRIE

® -5 =23 EHBIX 1 I = B IMET % 215
A= 9517 24-26 AD—hBE
2 0 At B2 2| 27-25] 1
25713 26-24
Q@NIk23 —EIX 2 —M7M 4125 — E= D —= 215
Ba—hEE 2[21—25] 1 A :6 B4 2[522?8] 0 Ba—hiE
25-18
@ —=F 28 —EHE 33— 25-13 E—— L @ =E 28
Ba—hRs 2| ) Ba—hBE
2[25—21] 0 A2 81 2[25—15J 0
25-19 25-19
@ E% E=3: 1 E;": 4 —— gkj* I | IJ\fBI @ _Eﬁ 248
AS—hE 25-22 Ao—hHEE
2| 19-25| 1
25-17
Edt p=4=
—BIX 1 ————  HfE J 1S
25-12 | 25-13 B5 25-21
2| 3547| 0 A RS B3 2[25—20J 0 £ 2| 25-19| 0
—EEE jjs % L~ 7 o =my
2| 25-22 1
25-23

B EETE =B kS 34 2B afi =514 5 —BEILE

h
(2HE %F#aEabHt) =) 12/16 (H) 8:00 EERIITHE ALY 804 BB 840 F1:RE
=5 EFBI
® EBR 25 EitH 1 — 5 3 ® FEI 25
AD—hREE Aa—isE
Q@ ZBi 21 ZEEI 2 — ————— 6 EER ® REE =5
—hB 25-6 Al | 25-22 —
Ba—hiE 2[25516] UK AG B4 2[2226] 0 R
@ wmE =% KB 3 ——— 25-8 P ] HRE @ —zit =5
Ba—higE yoots 2| 259 | 0 252 Ba—hiE
2[2520] 0 A2 B1 2[2514] 0
@ —=mit 28 EHE 4 — i 3 iIfa @ ®mE 2%
AD—hREE . Aa—iE
{21):
p=4=b4 — ————— ZB%R e B
2[22—25] 1A A! B3 z[gg:g] 0 tss* 2[25—16] 1
25-18 Tk . kK 25-16 .
*EEEJ” | “ e— J}Iﬁ - = - ;i%i

25-20
2 [25—2 1] 0

B S B FH 3 HMEE 4 HHAEF  sum REI

AR | TR
EXES 8:40 205
ErE 10:05 255
EEES 11:25 205
F4HE 12:30 5%
F5HS 13:35 5%
ELES 14:40 5%




